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QUESTION 1

Refer to the exhibit. 

What is the problem with this RACI example? 

A. Every task should have four people consulted. 

B. No one has multiple roles. 

C. More stakeholders should be involved. 

D. Too many people are accountable for this task. 

Correct Answer: D 

 

QUESTION 2

What is the barrier type when end-users are having difficulties understanding the features and functionalities of the new
solution? 

A. technical 

B. business 

C. operational 

D. corporate culture 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 
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Which action must be taken by Customer Success Manager? 

A. Recommend expansion opportunities 

B. Review the financial index. 

C. Develop a customer testimonial. 

D. Identify the adoption barriers. 

Correct Answer: D 

 

QUESTION 4

Which stakeholder works directly with the customer executives to ensure that their business outcomes are aligned with
and achieved using purchased solutions? 

A. Renewals Manager 

B. Product Sales Specialist 

C. Account Manager 

D. Customer Success Manager 

Correct Answer: D 
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QUESTION 5

What is a consideration in evaluating readiness for adoption? 

A. Identify features or functions that are not deployed or underutilized. 

B. Identify potential accelerators that could optimize performance. 

C. Review customer acceptance test plan. 

D. Validate that all required items have been purchased. 

Correct Answer: C 
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